[1/€]

1.0
1

1/N dN/dQ

Ratio to CMS

0.5

8000 GeV pp Jets
= L L L L L L B I R
B Jet Charge Q (k=1.0, p >400, jy|<1.5) i
— m CMS _|
— —&— Pythia 8.308 default 7
B Pythia 8.308 tune-1 |
- Pythia 8.308 tune-2c¢ .
- Pythia 8.308 tune-2m -
B /:t\ i
- / L\u -
B h _
_ / Q _|
B o b\j ]
B o \g |
u g o ]
- rﬁhﬁfc‘frmlﬁ e e

= Bl S S ]
o — |
| 1 1 1 1 | " 1 1 " 1 1 | 1 1 1 1 | 1 1 1 " |
-1 -0.5 0 0.5 1
kappa=1.0

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


